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MCAS Questions: Structures of Life
Reporting Category: Life Science
Standard: 1 - Classify plants and animals according to the physical characteristics that they share.
Standard: 2 - Identify the structures in plants (leaves, roots, flowers, stem, bark, wood) that are responsible for food production, support, water transport, reproduction, growth, and protection.
Standard: 3 - Recognize that plants and animals go through predictable life cycles that include birth, growth, development, reproduction, and death.
Standard: 9 - Recognize plant behaviors, such as the way seedlings' stems grow toward light and their roots grow downward in response to gravity. Recognize that many plants and animals can survive harsh environments because of seasonal behaviors, e.g., in winter, some trees shed leaves, some animals hibernate, and other animals migrate.
1. (2013) A bird has just hatched from an egg. Which of the following stages most likely comes next in the life cycle of the bird?
A. birth
B. death
C. growth
D. reproduction
2. (2012) The picture below shows a plant growing in a closed room under a single light.


The plant is moved to the table in the back of the room and the light remains in the same place. Which of the following will change the most?
A. the direction the plant grows
B. the nutrients the plant needs
C. the shape of the plant’s leaves
D. the color of the plant’s flowers

3. (2012) Which part of a plant is most responsible for using energy from the Sun to produce food for the plant?
A. flower
B. leaf
C. root
D. stem
4. (2011) The drawing below shows a plant during the early development stage in its life cycle.
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Under normal conditions, which of the following will occur next as the plant continues to grow?
A. Fruits and roots will develop.

B. Seeds and stems will develop.

C. Stems and leaves will develop.

D. Flowers and fruits will develop.

5. (2010) The pictures below show parts from four different plants. 
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Based on the pictures, which of the following physical characteristics would be best to use to sort the plants into two groups?
A. the shape of the leaves
B. the length of the leaves
C. the length of the branches
D. the thickness of the branches

6. (2010) Which of the following characteristics will best prevent a tree from being blown over by high winds during a storm?
A. deep roots
B. long branches
C. thick bark
D. wide leaves
7. (2010) A morning glory is a type of flowering vine that climbs trees and fences. Which of the following behaviors most helps a morning glory plant climb a fence?
A. stems curling in response to touch

B. stems swelling in response to water

C. flowers opening in response to light

D. roots growing in response to gravity

8.  (2008) Which of the following drawings best shows the life cycle of berry bushes growing naturally in a forest?
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A.
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B.
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C.
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D.

9. (2008) Which of the following best represents one particular stage in a life cycle?
A. a fish swimming

B. a seed sprouting

C. a leaf growing

D. a dog eating
10. (2008) The chart below lists the organisms that Tamara sorted into two groups based on one physical characteristic.

	Group 1
	Group 2

	alligator

goldfish

snake

tuna
	bat

deer

mouse

rabbit


Which of the following physical characteristics did Tamara most likely use to sort the organisms into the two groups?

A. number of legs

B. size of the body

C. shape of the feet

D. type of body covering

11. (2007) Some types of trees are able to survive the heat of a forest fire. Which of the following characteristics would best help a tree survive a fire?
A. large leaves

B. shallow roots

C. thick bark

D. thin trunks

12. (2007) Four parts of a sunflower plant are identified by numbers in the picture below.
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Which numbered part of the sunflower plant is mainly responsible for reproduction?

A. part 1

B. part 2

C. part 3

D. part 4

13. (2007) The picture below shows a plant that is bending as it grows.
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What most likely caused the plant to bend this way?

A. fertilizer

B. gravity

C. heat

D. light

14. (2005) The purpose of thorns on a plant is most likely to

A. help the plant to get moisture.

B. anchor the plant in the ground.

C. protect the plant from harm.

D. support the stems and branches.

15. (2006) A healthy red-flowered tulip plant is shown below.
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Which of the following would occur first as a result of a drought?
A. The tulip’s leaves would wilt.

B. The tulip’s flowers would turn blue.

C. The tulip’s stems would grow longer.

D. The tulip would produce more flowers.

16. (2006) The diagram below shows a cross section of a tree trunk.
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What are the main functions of wood in a living tree?
A. support and reproduction

B. water transport and support

C. protection and reproduction

D. water transport and protection

17. (2006) Structures like the one shown below can be seen on maple trees at certain times of the year.
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What is the main function of this structure?
A. protection

B. pollination

C. competition

D. reproduction

18. (2006) A common grass is pictured below.
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Which labeled parts of the grass absorb most of the minerals needed by this plant?
A. flowers

B. leaves

C. stems

D. roots

19. (2004) Few flowers are able to grow on the northern arctic tundra. Those that do grow there have very short stems. How is this is an adaptation to help them survive in the arctic climate?
A. It protects them from freezing.

B. It prevents them from being eaten by consumers.

C. It protects them from breaking in strong winds.

D. It makes it very hard for them to be pulled from the ground.

20. (2004) The diagram below shows a plant.
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The primary purpose of structure 3 is to

A. absorb water.

B. make food.

C. protect flowers.

D. produce seeds.

21. (2004) The picture below shows flowering plants.
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If all the flowers are picked off the plants above, the plants will not be able to

A. grow taller.

B. produce seeds.

C. make their own food.

D. absorb nutrients from the soil.

22. (2004) The diagram below shows a bean seed that is beginning to germinate in soil. The first structure to emerge is labeled X.
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What is the function of structure X?

A. to make food

B. to absorb water

C. to produce seeds

D. to release oxygen

Open Response Questions
1. (2009) Janna’s class is on a field trip at the seashore. The students are classifying some of the animals they find into one of the three groups shown below.
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Janna looked into a tide pool and observed the animals shown below.
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a. Classify the animals that Janna observed in the tide pool into one of the three groups.
b. Describe the main characteristic used to classify the animals from the tide pool into the group you identified in part (a).
c. Describe two differences between the animals from the tide pool and the animals in the other groups.

2. (2008) The picture below shows a rosebush. Different structures of the rosebush have functions that help the plant to survive, grow, and reproduce.

[image: image14.png]



a.  Identify three different plant structures of the rosebush.

b.  Describe a function of each of the plant structures you named in part (a).
MCAS Questions: Structures of Life
Multiple Choice Answers

1. C
2. A

3. B

4. C

5. A

6. A

7. A

8. A

9. B

10. D

11. C

12. A

13. D

14. C

15. A

16. B

17. D

18. D

19. C

20. B

21. B

22. B

Open Response Answers

1. Seashore Classification
Score Point 4
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Score Point 4
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Score Point 3


[image: image17.png]W%P* Ay The. anpals Juand found vere A
y qeter sty cts

ﬁi’_\m;_‘ps_\\@g_c_%mﬁoité\' WSelfy

&gwe Letiean \—\\)&E s

ém\u mq&\h & de«\irplqce%
i\ N % N " sQ Ne





Score Point 2
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Score Point 1
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Score Point 0
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2. Rosebush Structures

Score Point 4
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Score Point 4
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Score Point 3
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Score Point 2
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Score Point 1
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Score Point 0
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